13.

14.

15.

16.

Arrange the following statements in the correct order to show what
happen after pollination occurs.

A A pollen tube grows from the pollen grain.

B A pollen grain lands on the stigma of a flower.

C  The pollen tube grows down towards the ovary.

D The pollen tube transfers the male reproductive cell to the egg cell.

(1) ABCD C
(3) B,ACD 4) CB DA ( )

What is the name of the process?
(1) Dispersal (2) Pollination
(3) Fertilisation (4) Germination ( )

What will occur after an egg cell in a flower is fertilised by a male
reproductive cell?

(1) The ovary will wither and drop off.

(2) The ovary will develop into a seed.

(3) The petals will wither and drop off.

(4) The ovule will enlarge and develop into a fruit. ( )

Which statement about seeds is incorrect?

(1)  Seeds are produced by sexual reproduction.

(2) Seeds can grow into new plants under any conditions.

(3) The production of seeds involves the fusion of male and female
reproductive cells.

(4) Seeds have to be dispersed far away from the parent plants to
prevent overcrowding. ( )
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Study the following flow chart and answer questions 17 to 19.

Seeds and fruits
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structure?

Study the African tulip shown below.

Does it have
tiny hooks?

Yes

No
v

Does it have
a fibrous
husk?

Yes

Y

No

Y

Is it colourful
and fleshy?

Yes

Which letter correctly represents the African tulip?

(M T
(2) U
(3) Vv
4 w
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